
WINDSHIELD MOUNTING INSTRUCTIONS 
Mod.: RAPTOR
Ref.: 0013

TÜV
HOMOLOGACION 

Nº  38188

MOUNTING SYSTEM: HONDA CB600F ‘03  -  CB900F 
HORNET

9

6
8 7

11

 AVAILABLE COLOURS: Smoke, blue, black, red, yelow.

Delivered 2 units of soft sticker 30x30x7 to in-
sert between the screen and the bike panel, if it 
was necessary. 

   DESCRIPTION
1

2

3

4

5

6

7

8

9

10

11

ID. QTY.
Windshield

INOX support

M6x8 screw ISO 7380

M6x12 screw ISO 7380 w/special nut

Plastic washer Ø6,1xØ11x1

M8 nut DIN 934

M8x35 screw DIN 933

Ø18xØ8x1,5 fl at washer

Metal arrowhead Ø15xØ8x9

Metal arrowhead Ø12xØ6x8,5

M6x20 screw DIN 933

1

2

4

2

4

2

2

2

2

2

2

3

2

5

Original screw 

4

2

10

1

3

Rely only on high-grade motorcycle windshields & fairings offered on our virtual shelves.

https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/puig/

